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Paper : ECO-RE-6016

(.Economic Development and Policy in India—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
1x10=10
O PR R Qe wabR Ty fian

fa) On which year was Food Corporation of
India (FCI) set up?

I 1S SROW 4 A5 Tom 41 (2R 2

(b) Mention one objective of new industrial
policy of 1991.

S35 BR TGN SrufE M @ Sy
foran 1
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(d)

(e)

(g)

)

)
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(2)

What is MUDRA?
MUDRA &2

In which year India became a member of
WTO?

(T 516 ©{S WTOTR 7 et 2
 Define foreign investment.

e Rffcarsm e fa |

Write one cause of regional variation of
agricultural productivity in India.

SRS IR BeorANOR WP SRITTOR
MNP BT FRT By |

Point out one achievement of land
reforms in India.

TS Bl FFRT b1 T Crmy |

What are the purposes of
N short-
agricultural credit? tem

ZIU 3R 4R S R 9

Mention one name of loss i
makin i
sector undertakings in India 8 publie

S (AT TR o
- for=n o | TR e b S

Write one solution

to the ing:
problem of deficits in balai:emn%
payments in India, °

( Continued )

(k)

0

m

n

(3)

SRR AMfE EHER el oFae (A S
DY I YA 61 Bomr forr |

What is the main purpose of the
agricultural price policy in India?

THES R 70 A A4 Towes & 2

Point out one export promotion measure.
I LIRS Gt I Smgfer o o

Mention one difference between small-
scale and cottage industry.

o7 oo W% 0 STOIR RS b N
By 91

State one feature of WTO.
WTOR 961 C3f8) e +41 1

What is balance of trade?
e R ST e B @

2. Answer any five of the following questions :
2x5=10

S P R @1 <livbr Tes fam -

) What is disinvestment in public sector

22A/88S

undertakings?

el ved e Rfares Fe &
T™? |
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(4) (8)

{b) Mention two factors responsible for poor | fg) What are the iniﬁaﬁYes taken in {\.atma
performance of land reforms P Nirbhar Bharat Abhiyaan for revival of
in India. programme small-scale industries?

TS PR AFR IWER T IRETOR T Ty SCOPR P @ ARSI S7S
FRT SeE F wfere & R omesd ¢RI (TR ?

() Write two important strategies for (h) Highlight the periods of current account
industrial development in India. deficit in balance of payments of India.
SHwS S SREN I T Gyl (R oot IMRE R g s i
al cae ol T it FeCRrl BeEe 990 4

(d) Mention two problems faced by small-
scale industries in India.

SeS ¥ SRR R o e @ SR

Ty kg ; oo e R g famn
! (a) Mention some measures to raise

agricultural productivity in India.

3. Answer any four of the following questions :
5x4=20

(e) Write two measures adopted by the
government to improve the condition of

farm workers in India, | oRes FRY T P FE WA FTAR
TRes FR 2R o) S wRaE o B

5RA
1 70! IR"! s =

; {p) What are the factors responsible for

() Name two central public mounting crisis in balance of payments

enterprises which haye re::;\::;; in regent years in India?
-Maharatna’ status in India, TRT FETS SHTS AT CFTER B7ET
SRS (FHY A Y69 g cwe . A IS W TR IEFIR
™ .
Ry 2w’ Rt weia wfieg | P R | &9
|
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(c)

(d)

(e)

(g)

)
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(6)

?xplain th'e role of foreign direct
Investment in Indian economy.

RN RS sfors
1 OO AOTF e Rivase s

Explam.the importance of industries in
€conomic development of India

:T"‘W%amwm@wqﬂ

Point out the obieet:
in India, objectives of land reforms

SRS B 3
R A SR S 7

Explai j
p:};h:ns e:::r migor problems of the
enterprises in India

SRR T
ST TP st A

96 /T |

Briefl i

oo cti’l t:u’ﬂxplal.m the present state of
ral marketing in India,.

SR IR
FMI WWWWW?’W

{ Continued )

4. Answer any four of the following questions :

1
|

22A/885

(7))

10x4=40

oo 2P R e i T fi -

{a) Discuss the trends in agricultural

production in India since independence.

yRoR P et R BeARR  SfSUET
o SCEDA 41 |

(p) Explain the phases of industrialization
and its growth in India.

SRR SraNEe F TR I PR I
M1

What is agricultural credit? Discuss the
various sources of agricultural credit in
India.

7R %1 Frw R T2 sAos IR ¥W Rfew
TR 30 4 |

{c)

Evaluate the performance of public
sector undertakings in India.

TREY IRAN 44T SR PR T |

Discuss the balance of payments
position of India since independence.

TR e sRet IMRTF @R B5ed
SR Reca == 31 |

(e)
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Ui

(g)

(h)

()

G/
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{ 8)

Dlsf:uss the role of cottage industries in
India and mention its weaknesses.

SRS Fo1 PR gz e
R HTPTR S 4 | e

Exl?lain the main features of
agricultural price policy in India.

S TR 370 AR 21 CaiEprgR 3o 4

What is agricultural marketing? Explain

the defects of agri I
India. gricultural marketing in

M TR qaw e B 1w
T ? SReS onfis

Give an overvi
rview of forejgn i
. gn i
flows in India, nvestment

SRS (e
e g ﬁﬁm‘;ﬁ R o ot

( Continued )

(9)

Paper : ECO-RE-6026

[ Economic History of India (1857-1947) ]

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer any ten of the following questions :
1x10=10
o 2P R Tl bR e
(a) What is meant by colonial economy in
India?

s SHfar SRS Lo & mm e

(p) What was the main focus of the colonial
economic policies in India?

sRe fafe S AN T @ERY
& wnfde 2 '
{c) What is meant by commercialisation of

Indian agriculture?

O FRT ARRIFEI WA B W IW?
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(10 )

d .
d) il\ldle?tufn one.cause of recurrent famines
ndia during 1857-1947.

Sed ] {1 3589 Bete
OGS FYL

fe) What is deindustrialisation"

e R o

(f) }Vhat was the mos
infrastructure
British Rujep

=3 g
STHCRIS SReq SRets aweld
W %ga;"m % . moj.
institution inthli dl.ﬁar:t known banking
SRe]
ﬂwﬂﬁmmﬁiam%aaﬁﬁmraﬂﬂdh?

(h) Menﬁon one s

. t important industrial
eveloped in India during

Wﬁm%ﬁ"ﬁw;ﬁj -
Who introdyce,

. d
during British R\;:;:)d reforms in India

L p—
T g O T

[;

22A/885
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(11

() Who first calculate national income in
India?

SRS CFIA AU SO S AT IR ?

(k) What was the main source of
occupation of the people of India during

the British Rule?
A SRS SReN W &R
fidia 1 oot R Wi 2

() What were the main reasons for slow
growth of population of India during

British Rule?
I TR THEES SR EPRIN
e R T FRe R e 2

(m) Mention one reason of economic
underdevelopment of India during the

British Rule.

o PR RS SR AT
SRR b1 IR BT 9|

(n) What is trade surplus?
AR g R

{o) What are cash crops?

w{F R TR 2
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